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stepping motor_01/PLC_1 [CPU 1212C AC/DC/Rly] / Program blocks

Main [OB1]

Main Properties

Name Main Number 1 Type OB Language LAD
Numbering Automatic
Title “"Main Program Sweep (Cy- | Author Comment Family
cle)"
Version 0.1 User-defined ID
Main
Name Data type Default value Supervision Comment
w Input
Initial_Call Bool Initial call of this OB
Remanence Bool =True, if remanent data are available
Temp
Constant
Network 1:
%DB2 %DB3
"MC_Power_DB" "MC_Home_DB"
MC_Power MC_Home
&% &%
EN ENO EN ENO ——i
%DB1 Status =i... %DB1 Done =i...
"AXiS_1 " — Axis Error =—i... "AXiS_'l Y — Axis Error =—i...
1= Enable %I18.6
1~ StartMode "s_Limit_L" — Execute
0 — StopMode = 0.0 — Position
0~ Mode v
Network 2:
%DB6 %DB5
"PO" "P1"
MC_MoveAbsolute MC_MoveAbsolute
&%
EN ENO EN ENQ —i
%DB1 Done —... %DB1 Done —....
"AXiS_'l " — Axis Error =i... "AXiS_'l Y — Axis Error =i...
"PO".Execute = Execute "P1".Execute = Execute
57.0 — Position 167.0 — Pposition
120.0 — Velocity — 120.0 — Velocity —
Network 3:
%I10.2 %M20.0
"SW3" "state1"
N (s)
%Q0.0
"out_EN_m"
{ RESET_BF }—
6
%M20.1
"state2"
{ RESET_BF }—
20
"PO".Execute
{R}
"P1".Execute
{R}

Network 4:
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%M20.0 %10.0 %M20.1
"state1" "SW1" "state2"
11 11 {s}

%Q0.1
"out_Push1"

{5\
\Sl

%M20.0
"state1”

{ R}
\Rl

Network 5:

%M20.1 %l0.3 %M20.2
"state2" "s_Push1" "state3"

] L 1 L {<\
\Sl

"P1".Execute

{s)
\Sl

%M20.1
"state2"

{R)
\Rl

Network 6:

%M20.2 %M20.3
"state3" "P1".Done "state4"

11 11 (s
11 1| 1S}

"P1".Execute

{R)
\Rl

%Q0.4
"out_Down"

{s)
\Sl

%M20.2
"state3"

{RrR)
\Rl

Network 7:

%M20.3 %10.7 %M20.4
"state4" "s_Down" "state5"

11 11 (s
11 1| 1S}

%Q0.5
"out_Gripper"

{s)
\Sl

%M20.3
"state4"

{RrR)
\Rl

Network 8:

Move Up

%M20.4 %I18.0 %M20.5
"state5" "s_Gripper" "state6"
11 11

{s)
LI | LI | \Sl

%Q0.4
"out_Down"

{ R}
\Rl

%Q0.1
"out_Push1"

{ R}
\Rl

%M20.4
"state5"

{ R}
\Rl

Network 9:

back to original Position
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%M20.5
"state6"

%M20.6
"state7"

{5}
\Sl

"P0O".Execute

{s)
\Sl

%M20.5
"state6"

{R)
\Rl

Network 10:

"P0".Done

%M20.7
"state8"

{5\
\Sl

"P0".Execute

{R)
\Rl

%Q0.4
"out_Down"

{s)
\Sl

%M20.6
"state7"

{R)
\Rl

Network 11:

%M21.0
"state9"

{5\
\Sl

%Q0.5
"out_Gripper"

{ R}
\Rl

%Q0.4
"out_Down"

{Rr)
\Rl

%M20.7
"state8"

{ R}
\Rl

Network 12:

%M21.0
"state9"

%10.6
"s_UP"
11

%M20.0
"state1"

{ s}
\Sl

%M21.0
"state9"

{R)
\Rl




